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1 ] 7.6 0.35 <3 16.0 185 1.85 130 0.10 ND <0.02 | <0.005 | 0.067 | 49.0 <1 <1
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2 Heg
3 ESPONN 7.8 0.64 <3 16.8 20.2 1.73 129 0.15 ND 0.02 | <0.005 | 0.069 | 44.0 <1 <1
4 ] 7.7 0.72 <3 53 128 1.34 296 0.15 ND <0.02 ND ND 48.0 <1 <1
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5 8.2 0.74 <3 4.8 134 1.25 299 0.15 ND <0.02 ND ND 44.0 <1 1
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6 Bk 6.6 0.58 <3 124 36.6 437 164 0.15 ND 0.03 | <0.005 | <0.050 | 41.5 <1 1
7 i 6.6 0.50 <3 11.8 374 4.42 162 0.10 ND <0.02 | <0.005 | <0.050 | 43.0 <1 <1
8 £ 6.5 0.69 3 12.5 23.0 2.93 124 12 ND 0.03 | <0.005 | 0.171 43.0 <1 <1
9 & if 6.8 0.64 <3 11.8 247 2.91 122 0.10 ND <0.02 ND | <0.050 | 43.0 <1 1
10 | &= -kgg| 76 0.50 <3 16.9 19.5 1.77 128 0.10 ND 0.02 | <0.05 | 0074 | 47.0 <1 <1
1] &% 7.6 0.70 <3 15.6 20.8 2.00 134 0.10 | <0.01 0.03 | <0.005 | 0.083 | 44.0 <1 <1
12 Gl 73 0.46 <3 15.7 23.4 239 138 0.10 ND <0.02 | 0.006 | <0.050 | 49.0 <1 <1
13 | #eg 72 0.30 <3 162 213 2.17 136 0.10 ND 0.02 | <0.005 | <0.050 | 46.0 <1 <1
14 ZEf 6.9 <3 ND 22 0.13 ND ND ND <0.02 | 0.006 ND ND <1 <1
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1 7.5 0.47 <3 163 19.0 1.80 130 0.10 ND 0.02 | <0.005 | 0.069 46.5 <1 <1
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2 F® 7.7 0.41 <3 17.2 18.0 1.76 130 0.15 ND 0.03 ND 0.068 45.0 <1 2
43-1%5
N
3 7.7 0.58 <3 16.5 20.4 1.71 130 0.10 ND 0.03 | <0.005 [ 0.066 46.0 <1 <1
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6 8.1 0.66 <3 5.1 149 1.06 319 0.15 ND <0.02 ND ND 42.0 <1 1
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7 8.1 0.64 <3 7.6 132 1.32 296 0.15 ND 0.04 | <0.005 ND 46.5 <1 1
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£
8 6.6 0.60 <3 122 36.9 4.46 162 0.15 ND <0.02 | <0.005 | <0.050 | 41.0 <1 <1
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9 122 1 6.4 0.27 <3 11.1 24.3 3.57 116 0.15 ND 0.04 | <0.005 | <0.050 | 39.0 <1 <1
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10 " 6.5 0.32 <3 10.3 27.9 3.13 120 0.10 ND <0.02 | <0.005 | ND 39.0 <1 <1
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11 | % £3-55.| 68 0.58 <3 12.2 25.2 3.23 126 0.10 ND 0.02 | <0.005 | <0.050 | 42.0 <1 <1
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12 7.3 0.78 <3 14.0 23.7 229 130 0.10 ND <0.02 | <0.005 | 0.055 45.0 <1 <1
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13 | © #48% 7.5 0.78 <3 16.8 20.2 1.82 122 0.10 ND <0.02 | <0.005 | 0.074 445 <1 <1
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15 | & 858 7.3 0.29 <3 14.7 23.6 2.38 130 0.10 ND <0.02 | <0.005 [ <0.050 | 46.0 <1 <1
16 B 65 72 0.30 <3 16.8 222 227 137 0.15 ND <0.02 | 0.006 | <0.050 | 49.0 <1 <1
17 | i T528, | 72 0.27 <3 16.2 22.0 2.39 135 0.10 ND <0.02 | 0.008 | <0.050 | 48.0 <1 <1
18 | =#r58%% 7.4 0.22 <3 15.8 21.4 2.09 128 0.10 ND 0.03 0.006 | 0.051 46.0 <1 <1
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